
                    Comprehension   

Ques) read the passage given below and answer the questions that follow:  

US pƌesideŶt ďaƌƌaĐk Osaŵa͛s eŶeƌgǇ plaŶ Đalls foƌ higheƌ effiĐieŶĐǇ staŶdaƌds foƌ Đaƌs as ǁell as 
gƌeateƌ use of ethaŶol. It aiŵs to Đut US oil deŵaŶd ďǇ aďout fouƌ ŵillioŶ ďaƌƌels a daǇ. That͛s eƋual 
to the combined oil consumption of France and Canada, and would knock the bottom off the world 

oil market. That has to be a good thing in a world of energy shortages, even though a study 

ĐoŶduĐted at StaŶfoƌd͛s ǁood iŶstitute foƌ the eŶǀiƌoŶŵeŶt Đlaiŵs that ƌeliaŶĐe oŶ ďio fuels is Ŷot a 
good strategy. 

If Osaŵa͛s new energy plan takes off, it would promote interest in research and development of 

clean, alternative energy options like those of wind, water, solar and hydrogen resources as well as 

develop hybrid vehicles. It could find ways of making crop based bio fuels ǀiaďle. Oil͛s loŶg teƌŵ 
costs, which include reliance on oilfields in geopolitically unstable parts of the world, would make it 

a far more expensive choice, besides its negative impacts on environment and health. 

It ŵight ďe that pƌeseŶtlǇ AŵeƌiĐa͛s ethanol from corn projects consume a great deal of energy and 

have driven upward the price of food crop on account of farmland diversion. But there are success 

stories in other places. 

Now, complete the following statements: 

1) PƌesideŶt oďaŵa͛s eŶeƌgǇ plaŶ is aimed at: 

     

2) A study at StaŶfoƌd͛s woods institute claims: 

 

______________________________________________________________ 

3) Osaŵa͛s new energy plan could find: 

______________________________________________________ 

4) AŵeƌiĐa͛s ethaŶol-from-corn have driven: 

______________________________________________________ 

5) find out the sǇŶoŶǇŵ of ͚plaŶŶiŶg͛ fƌoŵ the passage. 

________________________________________________________   
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